

# UNIVERSITY OF THE PHILIPPINES LOS BANOS

Los Banos, IV-A VAT Reg. TIN: 000-864-006-00004

# Request for Quotation/ Bid Form (Technical Specifications) OFFICE OF THE CHANCELLOR

AUG 0 2 2021

UPLB-RQ- 7-046-21-1-1000

UPLB-RQUPLB-RQ-

DEADLINE OF SUBMISSION:

Suppliers Name:	Date	July 01, 2021
	Fund Code:	8272900
	MOP:	Small Value Procurement
	Contact No:	049 536 2894
	Contact Person	Eric C. Repoldo / ecrepoldo@up.edu.ph

Please quote your lowest price on the item/s listed below, subject to the General Conditions below.

Note

- 1. Bidders shall provide correct and accurate information required in this form. All entries must be typewritten or in print and properly accomplished. Do not leave blank entries, put N/A for not applicable.
- 2. Price quotation/s to be denominated in Philippine Peso shall include all taxes, duties, and/ or levies payable.
- 3. Bidders must indicate the BRAND and MODEL NUMBER for equipment and its accessories or peripherals. Evidence shall be in the form of manufacturer's un-amended sale literature, unconditional statement of specification and compliance issued by the manufacturer and sample.
- 4. Quotation through fax/email is acceptable. Winning bidder shall submit original signed RQ before issuance of Puchase order (P.O.).
- Quotations exceeding the Appoved Budget for Contract shall be rejected.
- 6. Documentary requirements per Memorandum No. 03 Series of 2017 shall be attached upon submission of the quotation
- 7. Others:

# RFQ FOR PR # 107591, Hardware Supplies - Conversion of Slop Sink Cubicle to Water Closet Cubicle ;8272900 OC

ITEM No.	GENERAL NAME OF THE ITEM	REQUIRED SPECIFICATIONS	UNIT OF MEASUR E	QTY	ESTIMATED UNIT APPROVED BUDGET OF THE CONTRACT	ESTIMATED TOTAL APPROVED BUDGET OF THE CONTRACT	OFFERED SPECIFICATION Suppliers must state here the detailed technical specifications of their offer against each of the individual parameters of each requirements	QUOTED UNIT PRICE	TOTAL QUOTED PRICE	EVALUATION (Leave this space blank, For BAC/ Evaluators only)
1	Chlorine dioxide	stabilized chlorine dioxide, premium brand	gal	1	536.00	536.00				
2	Coco lumber	2" x 2" x 12' long	рс	10	120.00	1,200.00				
3	Coco lumber	2" x 3" x 12'	рс	5	180.00	900.00				
4	Common Wire Nail	2" long	kg	1	95.00	95.00				
5	Common Wire Nail	3" long	kg	2	95.00	190.00				
6	Concrete Hollow Blocks	4" thk. Concrete Hollow Blocks, 350psi	рс	205	25.00	5,125.00				
7	Concrete Nail	3"	kg	1	120.00	120.00				
8	Deformed bars	10mm Ø x 6.0m long, PS230	рс	10	165.00	1,650.00				
9	Deformed bars	12mm Ø x 6.0m long, PS230	рс	1	240.00	240.00				
10	Door	Bathroom Surface Sliding Barn Door. As per plan	set	1	9,200.00	9,200.00				
11	Drill Bits	12mm Ø Masonry Drill Bits, Heavy Duty (Premium Grade)	рс	1	550.00	550.00				
12	Facial Mirror	6mm thk Facial Mirror with 25mm Beveled Edge, provide 6mm thk marine plywood sheathing, felt paper backing, aluminnum frame with aluminum mounting bracket & 25mm diameter x 50mm Long Stainless Cap Screw	set	1	2,000.00	2,000.00				
13	Fiber Cement Board	1/2" thk x 4' x 8'	рс	1	900.00	900.00				

ITEM No.	GENERAL NAME OF THE ITEM	REQUIRED SPECIFICATIONS	UNIT OF MEASUR E	QTY	ESTIMATED UNIT APPROVED BUDGET OF THE CONTRACT		OFFERED SPECIFICATION Suppliers must state here the detailed technical specifications of their offer against each of the individual parameters of each requirements	QUOTED UNIT	TOTAL QUOTED PRICE	EVALUATION (Leave this space blank, For BAC/ Evaluators only)
14	Floor drain	100mm x 100mm tile invisible anti-door floor drain. Complete with mounting screws and accessories	set	1	867.00	867.00				
15	G.I. Tie wire	Ga. # 16	kg	2	130.00	260.00				
16	Gravel	3/4" crushed gravel	m³	1	2,000.00	2,000.00				
17	Hacksaw blade	12in,18 TPI, premium brand	рс	2	94.00	188.00				
18	Lavatory faucet	Branded Single lever deck mounted lavatory faucet (1/2") with pop-up waste, with complete fitting and accessories	set	1	5,264.00	5,264.00				
19	Metal Cutting Disc	4" Ø Metal Cutting Disc, Heavy Duty (Premium Grade)	рс	5	165.00	825.00				
20	Nylon String	2.0 mm Ø Nylon String (35m/roll)	roll	1	50.00	50.00				
21	Phenolic Board	3/4" thk. x 4' x 8'	рс	1	1,120.00	1,120.00				
22	Pipe clevis hanger assembly	Pipe clevis hanger assembly with 12mmØ x 6" long stub end turnbuckle and 12mmØ hanger rod with thread on 12mmØ expansion bolt	set	6	680.00	4,080.00				
23	Portland Cement	Type M, (40kg/bag)	bag	23	300.00	6,900.00				
24	Portland Cement	Type I, Unblended (40kg/bag)	bag	2	308.00	616.00				
	PPR Coupling	1/2" Ø, PN 25	рс	1	36.00	36.00				
	PPR Elbow	1/2" Ø, PN 25	рс	3	174.00	522.00				
27	PPR End Cap PPR Female	1/2" Ø, PN 25	pc	3	27.00	81.00				
28	Adaptor PPR Female	brass (1/2" Ø)	рс	1	263.00	263.00				
29	Elbow	brass (1/2" Ø),	рс	4	257.00	1,028.00				
	PPR Pipes	1/2" Ø, 3.4mm thk x 4m, PN25	рс	3	448.00	1,344.00				
	PPR Plug	1/2" Ø, PN 25	рс	4	56.00	224.00				
32	PPR Tee	1/2" Ø, PN 25	рс	6	76.00	456.00				
33	PVC adaptor	2" Ø PVC adaptor, mini vent	рс	1	2,300.00	2,300.00				=2.1
34	PVC Elbow	2"Ø PVC Elbow, 45° Bend Series 1000, ASTM D-2729, ASTM 3311 and ISO 4435	рс	4	67.00	268.00				
35	PVC Elbow	2"Ø PVC Elbow, 90° Bend, Series 1000, ASTM D-2729, ASTM 3311 and ISO 4435	рс	1	85.00	85.00	188			
36	PVC Elbow	4"Ø PVC Elbow, 45° Bend Series 1000, ASTM D-2729, ASTM 3311 and ISO 4435	рс	2	129.00	258.00				
37	PVC Elbow	4"Ø PVC Elbow, 90° Bend, Series 1000, ASTM D-2729, ASTM 3311 and ISO 4435	рс	1	168.00	168.00				

ITEM No.	GENERAL NAME OF THE ITEM	REQUIRED SPECIFICATIONS	UNIT OF MEASUR E	QTY	ESTIMATED UNIT APPROVED BUDGET OF THE CONTRACT		OFFERED SPECIFICATION Suppliers must state here the detailed technical specifications of their offer against each of the individual parameters of each requirements	QUOTED UNIT PRICE	TOTAL QUOTED PRICE	EVALUATION (Leave this space blank, For BAC/ Evaluators only)
38	PVC Floor Clean-out with adapter	2"Ø PVC Floor Clean- out with adapter, brass plug countersunk head, Series 1000, ASTM D- 2729, ASTM 3311 and ISO 4435	рс	1	1,120.00	1,120.00	requirements			
39	PVC Floor Clean-out with adapter	4"Ø PVC Floor Clean- out with adapter, brass plug countersunk head, Series 1000, ASTM D- 2729, ASTM 3311 and ISO 4435	рс	1	2,128.00	2,128.00				
40	PVC Pipes	2" Ø x 3m, Series 1000 PVC Pipes, Series 1000, ASTM D-2729, ASTM 3311 and ISO 4435	рс	2	431.00	862.00				
41	PVC Pipes	4" Ø x 3m, Series 1000 PVC Pipes, Series 1000, ASTM D-2729, ASTM 3311 and ISO 4435	рс	1	1,064.00	1,064.00				
42	PVC P-trap	2"Ø PVC P-trap, Series 1000, ASTM D-2729, ASTM 3311 and ISO 4435	рс	1	168.00	168.00				
43	PVC P-trap	4"Ø PVC P-trap, Series 1000, ASTM D-2729, ASTM 3311 and ISO 4435	рс	1	426.00	426.00				
44	PVC Solvent Cement	(400cc/can)	can	1	338.00	338.00				
45	PVC Tee	2"Ø PVC Tee, Series 1000, ASTM D-2729, ASTM 3311 and ISO 4435	рс	2	90.00	180.00				
46	PVC Wye	2"Ø PVC Wye, Series 1000, ASTM D-2729, ASTM 3311 and ISO 4435	рc	2	113.00	226.00				
47	PVC Wye	4"Ø PVC Wye, Series 1000, ASTM D-2729, ASTM 3311 and ISO 4435	рс	2	280.00	560.00				
48	PVC Wye Reducer	4"Ø x 4"Ø x 2"Ø, PVC Wye Reducer, Series 1000, ASTM D-2729, ASTM 3311 and ISO 4435	рс	1	246.00	246.00				
49	Sand	(S-1)	m³	4	1,600.00	6,400.00				
50	Sand	S-1, 40kg/bag or 1ft³/bag	bag	2	68.00	136.00				
51	Shower set	Branded Shower set brass shower mixer with hand shower head, rain shower and faucet. Complete with manufacture's standand parts and accessories	set	1	8,624.00	8,624.00				4
52	The autresive	25kg/bag, premium brand OINT BAC RESOLUTION NO. R-006-18	bag	16	250.00	4,000.00				

ITEM No.	GENERAL NAME OF THE ITEM	REQUIRED SPECIFICATIONS	UNIT OF MEASUR E	QTY	ESTIMATED UNIT APPROVED BUDGET OF THE CONTRACT	ESTIMATED TOTAL APPROVED BUDGET OF THE CONTRACT	OFFERED SPECIFICATION Suppliers must state here the detailed technical specifications of their offer against each of the individual parameters of each requirements	QUOTED UNIT PRICE	TOTAL QUOTED PRICE	EVALUATION (Leave this space blank. For BAC Evaluators only
53	Tile grout	2kg/bag, Premium brand	bag	3	150.00	450.00				
54	Tile grout sealer	Premium brand	L	2	800.00	1,600.00				
55	Tiles	300mm x 600mm Floor, Wall, and Transition Floor Tiles (premium grade) Monteclaro Gris, Unglazed: fine grouted, max 0.50mm spacing. As per plan	рс	130	200.00	26,000.00				
56	Toilet Bidet	Branded Stainless Steel Toilet Bidet Hygienic Spray kit, 1.2m long flexible metal hose with mounting accessories	set	1	2,270.00	2,270.00				
57	Wall hung, counter basin	Branded Wall hung, counter basin (L=460mm x D=280mm x H=170mm), color for approval, complete with parts and accessories	set	1	7,056.00	7,056.00				
58	Water Closet	Branded water closet, L=725 x W=410 x H=750mm, Closed- coupled front level type flush, elongate, single flush with volume of 6L, with complete tank fittings, angle valve, 1/2"Ø F supply inlet, 2 connection outlets 1/2"Ø m and 1/2"Ø m, heavy duty, braided flexible water supply hose and anti-bac seat and cover Complete with manufacturer's standard parts and accessories, per plan	set	1	14,445.00	14,445.00				
59	Wire Mesh	#10 Gauge, 3ft x 1 meter	рс	2	320.00	640.00				
					TOTAL ABC	130,848.00				

Reviewed and Checked By Engr. Do my Rey D. Camus BAC TWG 258-2021

price (including VAT) and state that the time within which you can make delivery. It will be possible on or before the deadline stated herein. ave your quotation in the office as soon as

ERIC C REPOLDO

#### TERMS AND CONDITIONS:

1. Price quotation/s shall be valid for a period of at least (30) calendar days from the date of submission.

2. In order to assure that manufacturing defects shall be corrected by supplier, a warranty security shall be required from the contract awardee for a minimum period of three (3) months, in the case of EXPENDABLE SUPPLIES, or a minimum of one (1) year warranty and two (2) to three (3) years extended warranty (if applicable) in the case of NON-EXPENDABLE SUPPLIES after acceptance by

 Delivery period within \_\_\_\_\_ calendar days.

 Award of contract shall be made to the lowest quotation wich complies with the technical specifications, and other terms and condition stated herein Revised 6 June 2018/ JOINT BAC RESOLUTION NO. R-006-18

ITEM No.	GENERAL NAME OF THE ITEM	REQUIRED SPECIFICATIONS	UNIT OF MEASUR E	OTY	ESTIMATED UNIT APPROVED BUDGET OF THE CONTRACT	APPROVED	their offer against each of the	QUOTED UNIT PRICE	PRICE	EVALUATION (Leave this space blank. For BAC/ Evaluators only)
-------------	-----------------------------	-------------------------	------------------------	-----	--	----------	---------------------------------	----------------------	-------	--

<sup>5.</sup> UPLB reserves the right to reject any or all offers as may be considered most advantageous to the University.

<sup>6.</sup> Any interlineations, erasure, or overwriting shall be valid only if they are signed or initiated by you or any of your duly authorized representative/s.

REQUIREMENTS	Shopping (Section 52)	Negotiated Procurement- Small Value Procurement (Section 53.9)	Negotiated Procurement- Lease of Real Property or Venue (Section 53.10)	Negotiated Procurement- Scientific, Scholarly or Artistic Work, Exclusive Technology and Media Services (Section 53.6)	Procurement- Emergency (Section 53.2
Mayor's/Business Permit	1	/	/	/	/
PhilGEPS Registration Number	1	1	1	/	/
Professional license/ CV (consulting services)	COST LEADING	/		/	THE RESERVE
PCAB License (for Infrastructure)		/	是是	THE RESERVE OF THE PARTY OF	ALCOHOL:
Income / Business tax returns (except for government agencies as lessor)	CTan To	FOR ABC'S ABOVE 500K	/		FOR ABC'S ABOVE 50K
Omnibus Sworn Statement		FOR ABC'S ABOVE 50K			FOR ABC'S ABOVE 500K
NFCC for Infrastructure with ABC above Ph500k		7			FOR ABC'S ABOVE 50K

			IABOVE SOK
After having carefully read and accepted your G	eneral Conditions, I/We quote you on the Item at	prices noted above.	
Name of the Company:			
Address:		Tel. No. :	
		Fax No. :	
Signature over Printed Name of Representative:		Email Address:	
Position:		Date:	